x = i
(7)1 148 TR 130
A H BH 4G HRF Alf B Ci DI Elf Fi G Him
8:00 EEaEV
7TH16H 9:30 8 2 3 4 5 6 7
(7)1 A8 T 130
H H B AG IR Al Bl Cifn DI Elf Fifn G Hif
8:00 9 10 11 12 13 14 15 16
7TH23H 9:50 17 18 19 20 21 22 23 24
() 1148 T 130
H H BHAG R Al B Cifn Dif Elf Fifn G Hif
8:00 25 26 28 29 30 31 32 33
7TH30H 9:50 34 35 36 37 38 39 40
(BE U ER 7 45
H H BH G IR Al B Cifn DI
8:30 41 42 43 44
8SH6H 10:20 45 46 47 48
() 1148 T 130
H H BRAGRER | A B i Cifg D Ef Fifi
SH11H 8:00 49 50 51 52
9:50
(7)1 148 T 10
A H BRsGRER | A B i Cifg Difij
SH13H 8:30 53 54
(B ER 7 5
H H BHAG R Al B Cifn D
8:30 55 Bk
8H 20 -
A20H 10:20 Fw




